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PHYSICS



M
Q. For a given electric circuit shown, find the time taken to change current from rﬂjhest peak value to half O

of peak value
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M
Q. Draw true phase diagram for true temperature versus heat supplied when ice at (-10°C) converts into O
stream at 100°C.
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M
Q. Asimple pendulum of length 7 = \\Ayz\/is taken to height 'R' from earth surface. Calculate the time period O
of oscillation of simple pendulum at given height. Given : acceleration due to gravity at earth' surface
g=n

(1) 4 sec (2) 8 SG\V (3) 6 sec (4) 10 sec

h= 3{\: — 3

p
GETSCHOLARSHIP | NS
© RANKERS OFFLINE CLASSES NZLLTLE)| FORNEWADMISSION | GOOGLE FORM




© RANKERS OFFLINE CLASSES V.. T'5)) ngf JEEWGHMEU |ss|"I * 'nn"' mm.s




= 14 M
Q. If m= Kc*G2 h? then find x if symbols have general meaning and k is dimensionless (m = mass, O

c = speed of light, G = universal gravitation constant f h = plank's constant)

(1)1 (2) —% 3) (4) 2

N =

v
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M
Q. In the given circuit find the potential differencpzf.;;&iven : knew voltages for silicon and O

germanium P-N junction is 0.7 volt and 0.3 Vchbmspeéively
1.5kQ2 C ’5’(0 :H03)
{ RS

(1)3.25V (2) 4.75 (3) 9.50 8.75 V

o ¢<>CD7<2/L5
e .
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M
Q. A Charge '—-q and mass 'm' is revolving in circular orbit of radius 'r' around infinite length wire with linear O

charge density 'A'. Find the time period of revolution

112 (ME&g 3/2 |MMgg / 3/2_ (Mgg 172 |fMEgg
(1) (2n)"“r vy (2) )" |— 3) (2r)™"“r |— 4) (2n)"* J—
q kqoa Aq rq

44% E = ZK/j
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y & =2 Ag=FrnE
zz_sm‘e%K )
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"M
Q. A 10N Force is applied on mass 1 kg in upward direction as shown. Find the work done against friction O
force in taking it up by 10 m along inclined 5
16X
S| AF

-5 J

=

(1)10J (4)25J

La \{\/5/’ /ﬂmjk
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T2

M
Q. Find the value of tensior]/{ @5 T2 respectively in the given figure? O

5kg 3kg 2kg ® F = 80N
(1) 60N, 72 N (2) 72 N, 60N \(;)5_/0_ N, 64N (4) 64N, 40 N
— 3 & .
M _ zo _ '?M//(
—~ ~
| ok A 30 T

— 99
ER il
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M
Q. Graph of maximum possible K.E. of photo-electron and frequency of incident photons is as shown in O

figure. Find slope of graph.
KEmax‘ / ’(Z,// _
0
S (9P

(1) hie \% (3) e/h (4) 1/h
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M
Q.  Match the following : ’:

A. f é.d_A =0 P. Faraday & Lens's law
- ——
B. § E.d =2m_ Q. Gauss law of on magnetism
Ey _

C. § B.dl = pgigne « R Ampere's law

D. E.di= ——j?ﬁ- S. gauss law of electrostatics
\

(1)(A-Q),B-9),(C-R),O-P) "
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M

M
Q. For a given planet Rp = %L & Mp = 68 , Then find the escape velocity for this planet if the escape O

velocity for earth is 11.2 km/sec. (Re = radius of earth and Me = mass of earth)

(1) 7.92 km/\se/ (2) 11. 2 km/sec (3) 10.3 km/sec (4) 6.9 km/sec
R Y — Lz ke
e = R
f ol M = H ~
_Rp = | ——,_  ~—
i \ R £ 2
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M
Q. 5A current is passing through a square of side 1m then find the magnetic field at the centre of this square. O
(1) 8¥2x10°6T (2) 4¥2x10°6T (3) 2¥2x 1076 T (4) 6v2 x1078T

|
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S

‘ . ->\ A : . -J M
Q. A vector which have magnitude same as of 31 + 4 )& direction along 41 + 3j, is[ x| + 3j Jthen value x O

will be? e
(1)3 (2) 2 (3) 4 (4)10

<y Sﬁ}: iyl*g @

y
B VT
0\7“ S’D

S g #H‘Q/

4
GET SCHOLARSHIP
© RANKERS OFFLINE CLASSES KZLTXLS)| FORNEW ADMISSION

| FILL THE
GOOGLE FORM




e OLARSHIP _
© RANKERS OFFLINE CLASSES V..T.T.59) FgF.‘E Eﬁ';mnsann




M
Q. An electron is revolving in n" orbit of He* ion. Its magnetic moment depends on the radius of orbit as : O
1/2

(1r (23r/ (3) r*? (4) r?

S Goln % Gy ma s =40
= "
SO N
y\xﬁ/ / \l
Me™
/ | /
7'M N
b
27/ 2™
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M
Q. A disc of moment of inertia 4 kg/m? is spinning freely with ® = 10 rad/s. A second disc of moment of O
S

inertia 2 kg/m? and spinning with o = 4 rad/s in W slides down on the spindle and combined
slowly and start spinning together. What is the loss i Kinetic energy?

(1) 12 \9&@ (3)36 J 4)48 J
.
Y 13/
- - = yt A
- ]

RERS
P — — M XL L
5 | 2 L1+L)(é)
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M
Q. Two polarizers are placed at 45° angle. The intensity of final light if unpolarised light of intensity Iois O
incident on one of polarizer.

(1) 2 @ 2 @2 4) &

Zo Z/é _fud éf (OSL@
- 2
Zo )
72"z
Lo
o
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M
Q. 3 moles of monoatomic is mi i diatomic gas. find ymix O
(1) 1.32 (2) 1.42 (3) 1.52 (4)1.72
no— LN~

V\‘Cly —-\—h (P
= l z Ty [ €]
A ‘> >

B
l’\lcv,—-’\‘\ﬂzcvq/ /(4
(p= 218 Cp=18  Np=7
, 7 5
\,\\’} (\/ ;}/_K (V;E—K
4 2
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Q. A step down transformer has prlmary voltage of Vp = 3.2 KV,/number of turn in primary cou ith O
nsformer i

current 5 A. on secondary coil voltage is 320 V with number c@! efficiency of tra s
90% then find the current is secondary coil?

(1) 15 A 2) 30 A 45A (4) 60 A
—""’"‘VD \/ 3 _ F5 % |
| — 32D _ oo
P —= S sV P
d —] t
b T 7299 f
/L s Vol 90
\/ ELYNY _ Vo T B
3/@3 1 P—p
I \')lL\ - ‘:é
f’ YePrs =
Toys
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M
Q. Heat developed in a wire of resistance R is W. If it is cut into two equal parts and connected into parallel O

with same source battery then heat produced in same time will be. —
(1w (2)2W (3)3W (4) 4W
p=\ z "2

g
. 4

Iy
V/?/%w%'
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"M
Q. Numli')er of spectral line in the spectrum of He?, for transition from n=5to 1. O

- ———

W0 @6  ——— @8 4)5
\/\
(V)L/V\)J( | C : .
L L
I

p
GET SCHOLARSHIP
) RANKERS OFFLINE CLASSES N.LT.U'I.5 ) FORNEW ADMISSION | GOOGLE FORM




p
© RANKERS OFFLINE CLASSES V..T.T.59) FgF.‘E Eﬁ';mnsann




"M
Q. A mass is to be kept on the surface of curve y = x2/ 4 such that it does not slip. Find the maximum O
height at witch it should be kept if 1 = 0.5

I/\.f\ &

1 1
() @ 7

(4) 2
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"M
Q. 1000 drops, each have surface energy E1 converted into 1 bigger drop of surface energy E 2 then ? O

e 2
will be
1 1 1 1
(ﬂm (2)5 ‘A)W WE
|
Oo O K f
0o O qfl?
- (10 7%
- = T Y7k

3

€
/;/ﬁggﬂm - %&K

- OLARSHIP | FILL THE |
© RANKERS OFFLINE CLASSES NLZLZNTS) FOR NEW ADMISSION | GOOGLE FORM




P
© RANKERS OFFLINE CLASSES V..T.T.59) FgF.‘E Eﬁ';mnsann




M
Q. A 1009 resistance and 200 Q resistance is connected in a series with 4v battery. A voltmeter connected O

across 100 Q reads 1V. Find internal resistance of voltmeter

(1) 150 (2) 200 (3) 190 (4) 220
Y-3 -3 U-3_,
—— T <o %
5 | SO 280 Ry
_’_J_ —+ -0
2_€L 'EV
?V: Z 90\
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( M ’
Q. 49 main scale divisions is equal to 50 vernier scale divisions. If one main scale divisions is 0.5 mm then

find the value of vernier constant

(1)0.01 mm (2) 0.1mm (3) 0.02 mm (4) 0.2 mm
cC ms - L c /S
L.C V C = é LNANAANN
— OT5 Wnm (»{9 O S
_— g—'* ™ ('{qXOBh‘W\
6
— GAVA
=05 %—O>wm =5oxl
_ A LcVg
= _ ool
_— = — (/(9*6 5 wh
\ @D T
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M
Q. A parent nuclei of mass M is splits into three daughter nuclei of equal mass. Find speed of daughter O

nuclei if mass defect is Am :

2AM 2AMC 3AM 2AMC?
(1)6\7/ (2) v (3) M (4) =
\}_
M/
3 7
,vu/ nwm C = EV‘C’”‘(‘]
,\/
7«/ m \/2 - DM
2,\3
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M
Q. v-ugraph is given for a concave mirror. Find focal length of concave mirror. O

(1) 200 cm
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